
Rotor Head 主旋翼頭

Frame assembly 機體組裝

M3x12

P3x6x6

M2x14

N2x4

Please use AB glue to glue together the
support pipe and affixing head.

請使用環氧樹脂接著劑(AB膠)

將支撐桿與支撐桿頭黏合。

N3x5.5

M3x22

Ø8

M3x12

UP

Down

UP

螺絲均需上止滑劑

All Screws on side plates should 
be applied with thread locker.

螺絲均需上止滑劑

All Screws on side plates should 
be applied with thread locker.

SKU 052211
X5 V2 主軸(Ø8 / 172mm)
X5 V2 Main Masts(Ø8 / 172mm)

請注意X5 V2 旋翼頭需配合專用X5 V2主軸。

X5 V2 rotor head set should be installed on
X5 V2 main rotor axis.

172mm

Push

順時針
CW

Push



Install the Mast and Main Gear Set, tighten the
nut ③ and bolt ④ , tighten the mast collar at
proper position by set screws ① to make sure
the Mast is not able to be moved up or down
after it is assembled.

將主軸組至機身並置入齒盤內，鎖緊③④再將主齒盤

上推並將主軸輪檔貼合上主軸板注意主軸上下不要

有間隙再鎖入①螺絲。

Main Axis Assembly 機身主軸組立

螺絲均需上止滑劑

All Screws on side plates should 
be applied with thread locker.

Make sure the Mast
is not able to be
moved up or down
after it is assembled

主軸上下不可有間隙


